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iv. There is an animal in the menage

v. No animal in the menagerie IS blue. iy | S
vi. There are in the menagerie a dog, 3 ¢ P

rie that is neither 3 ca

nd let M(s) beé
Let D be the set of all students at your school, 3

en me
a computer science student,” and let E(S) be‘ S lsuaanntlflgeﬁ; .
Express each of the following statements using d IS ; .‘ ; g ‘:._ % e, :_: |
M(s),C(s), and E(s). P P AR R ey,
i. There is an engineering student who is @ ma student : i |
ii. Every computer science student is an eng"“’-'ermfuﬂentS
iii. No computer science students are engineering s 7 " 4
iv. Some computer science students are also math-ma) i 4 some areinot,
v. Some computer science students are engineering stu Nk A

Prove that VS is irrational.
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iii. A fungtion’ can have the same output for more than one input.

VA function can have the same mput for more than one output.
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